CS (A3 Leche 2b- uf\uow\-aLLl'-Jra,

Cp nshes %0, l? e ‘}LO. sed ,,.Q ,\AP.\,—-LL \.\\m—d Jenue s .
Ol telotl .- .-

cpuw\\-al,\,? \,J.M LcL' h-uwzf J:O-‘.: € —\T- ?O» \3

g

(e, Lilyo, \,0, \,O,I,l,-

T\m('D‘AJmHzaLW> aol Vo R it
L. §0,137 7 il s g ced e sl
Hoe 3 s Lyeadoe L0 N = 30,13
let £ N = $5,13%
We e wokabe  LE) £or e N o5
£C)s a0 a1, &y ayy - R:héio. 'S
a \ ‘pb) e je N

1 Aor Ao Ay Qey * °°

Gy A, A "

G\.,o Q),‘Q‘L &63 -

O30 Gy, Ay Oy
Leb LableGlos wlen for esch €N,
[ -
=) Lrall e N, LELE).
= £ 3
s £ s et Rjedhwe. O

e FHEHG

C)r _rl’\l -('\0“0"" ast nconrtable!
) PCN5
(v) QL2 N =56 1%¢



) PCN).
Cv) Q?Q-_ M"ib,\}%

(.13 (O)l) 00% w""a- &a.awlwﬁ
(_C-l\ IR Slowc —p i el Anslyszg

VL Skebe - CO) - PINY o G0 3P
Fr Scn, £l s Y oy

Ged 08y Whes A= ‘o:i\fs
-t ‘c o g;\-)cd_,_w\_
b:) d ? C&) = % £ N —950\@?
for SEN o($): N—=2%0,\%,
o\ 3€ €S
3(—53 (‘3: % O elst:
U 9 3 Liyedwe.
Q) bt §003" = (6,0
W(lasa2, ) = O, ook b, by - -
L’-,: A X3
e h = T eeke
Coy o sy R =

why A Sl
Tln.vw 'T(f"“ e,gsl— ?N s ~ wl2b ‘\A*Q,N- 3 Ao ‘ijo/\‘H—-"'

( +lae E{—G)’ “A o~ ﬂ*—\--l—‘-LLL P ”LLWS>

?C S bakeln: Lvery Comprter ey oo be vorHa
rS = L*’"/k L\M-v-g, SP\‘-&.
Qv [N‘ = l 30,13

O 3ok ikanas
(@)= O\
gn:° (D= 10



e
iig_c\b L(sH=10
g 20> = W
Dele -Qo‘* eack  Cc N, LW peoban
®S: en e N, 3 '\eSzh-
\?maa-wS\ o3 N . l %QS v S ¢ N%,’: \PCN)\

o ke Wlad 2SN, Cuel )k
ﬁ pP~o™ P ¢. L. 3(.@3: QS-
—D Heteymh o prbles R W/ e peye—

‘-"‘*'”'b Q;.
—> CS$ 33§, s urs



